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QUESTION 1

An administrator has been given an OS DVD to install on a server. During setup, however, the DVD gives an
architecture mismatch warning. Which of the following is the MOST likely cause of the issue? 

A. The administrator is trying to install the OS on a system equipped with ECC memory 

B. The administrator is trying to install a 64-bit OS on a system with 32-bit CPUs 

C. The administrator is trying to install on a system with multicore CPUs 

D. The administrator is trying to install on an outdated BIOS 

Correct Answer: B 

 

QUESTION 2

A technician needs to replace a hot swap coolong fan in a server. The server resides at U26 of a 42U rack that is fully
populated with servers. The technician is unable to remove the server from the rack without powering off the server first.
Which of the following should have been installed at the time the server was installed in the rack? 

A. A UPS 

B. Cable management arms 

C. Server rail kits 

D. Management modules 

Correct Answer: C 

 

QUESTION 3

Which of the following can be used to manage a servers BIOS remotely? (Select TWO). 

A. Remote desktop software 

B. Dedicated management card 

C. Telnet session 

D. IP KVM 

E. VPN 

Correct Answer: BD 

 

QUESTION 4
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A technician has connected a previously formatted ext4 eSATA drive to a Linux server. Given the following output: 

Disk /dev/sdb: 1000.2 GB, 1000204886016 bytes 255 heads, 63 sectors/track, 382818 cylinders, total 1953525168
sectors Units = sectors of 1 * 512 ?512 bytes Sector size (logical/physical): 512 bytes / 512 bytes I/O size
(minimum/optimal): 512 bytes / 512 bytes Disk identifier: 0x0009f31a 

Device Boot Start End Blocks Id System /dev/sdb1 * 20481 953525168 976761560 83 Linux 

Which of the following commands should the technician use to make the partition available under /data/drive0? 

A. fdformat -type Linux /dev/sdbl -d /data/drive0 

B. ext2 0x0009f31a /data/drive0 

C. net use /data/drive0 /dev/sdb 

D. mount /dev/sdbl /data/drive0 

E. fdisk -l /data/drive0 

Correct Answer: D 

 

QUESTION 5

Which of the following BEST describes RAID 5? 

A. Fault tolerance and failure recovery 

B. Fault tolerance and zero configuration 

C. Zero configuration and high performance 

D. High performance and fault tolerance 

Correct Answer: D 
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